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F [ CARPMA ISLEMI ] F

2X6=.... 9x4=.... 7x4= 2x3=...
6x2-= 2x8= 2Xx8=.... 7x9=...
6Xx6 = 7x5=... 7x3=... 8x 6=....
2X2=.... dx2=.. 8x8= 2x4=....
9x4-= 9x6=.. 2X7=.... 3x2=....
8x7=... 9x0-=.. 5x2=... 9x5=...
2x10 =...... 8x2-= 7x 7= 8x1l=....
9 5 8 4 7 6 9

6 — Carpan O —
x 5 — cCarpan X 8 T
— > Carpim B
2 tane 10, ....... eder. 5tane 10, ....... eder. 8 tane 10, ....... eder.
4 tane 10, ....... eder. 9tane 10, ....... eder. 3 tane 10, ....... eder.
7 tane 10, ....... eder. 6 tane 10, ....... eder. 8 tane 5, ....... eder.
9defah, ... eder. 5defas, ...... eder. 7 defa s, ...... eder.
6defa7, ... eder 8defay, ... eder 7 defay, ...... eder
3defa7, ... eder 7 defay, ...... eder 4 defa §, ...... eder
8x4= 7x7=.. 5x8= 6x9=
9x6= 6x7= 6x8= 3x9=
X |3 8 6 1 9 7 4 2 0 5 |10
5 20
8
7 /
4 40
6
9 63
3
6x3=... 4x3=.. 5x4 = ... 3x5=..
4x4=... 8x2=... 3x8=... 3x4=...

7Xx2=... 5x4=... 4x2-=... 6x3=...




35 45 64 25 56
Xx 4 X 4 X 2 X 5 Xx 4
15 27 38 17 28
Xx 3 X 2 X 2 X 5 Xx 4
13 24 16 17 29
X 8 X 4 X 3 Xx 5 X 4
48 24 26 23 37
X 4 X 6 X 5 X 8 X 4
45 29 14 21 30
X 2 Xx 3 X 7 Xx 8 X 6
56 75 86 25 38
x 5 x 9 x 3 x 7 X 9
41 30 18 60 29
X 7 X 6 X 9 X 7 x 8
55 63 48 57 74
X 6 X 8 X 9 X 6 X 7
15 44 24 27 46
X 6 x 7 X 8 X 3 X 4




